MATH 152 Spring 2016
COMMON EXAM II - VERSION B

LAST NAME: K 69 g FIRST NAME:

INSTRUCTOR:

SECTION NUMBER:
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DIRECTIONS:
1. The use of a calculator, laptop or ccll phone is prohibited.

2. TURN OFF ccll phones and put them away. If a cell phone is seen during the exam, your exam will be collected
and you will receive a zero.

3. In Part 1 (Problems 1-15), mark the correct choice on your ScanTvron using a No. 2 pencil. The ScanTron will not
be returned, therefore for your own records, ulso record your choices on your ezam! Each problem is worth 4 points.

4. In Part 2 (Problems 16-20), present your solutions in the space provided. Show all your work neatly and concisely
and clearly indicate your final answer. You will be graded not merely on the final answer, but also on the quality
and correctness of the work leading up to it.

. Be sure to write your nume, section number and version letter of the exam on the ScanTron form.
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“An Apgie does not lie, cheat or steal, or tolerate those who do.”
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1. Which of the following is the correct partial fraction decomposition for f(z) =

PART I: Multiple Choice. 3 points each.
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5. Given the sequence a1 = 1 and ap41
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7. Which of the following integrals gives the surface area obtained by rotating the curve y = sin (E) 0

about the v axis? X
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. Find s4, the fourth partial sum, of the series E cos (n;).
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10. The sequence a, = 21n(7n + 3) — In(6n2 + 1)
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12. Which of the following integrals results after performing an appropriate trigonometric substitution for
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PART II: Work Out
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16. Consider the sequence a.,, = o
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18. a.) (4 pts) Find the partial fraction decomposition for m
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19. Consider the surface ohtained hy rotating the curve y = In(2z + 3), 1 <& < 3, about the z-axis

a.) (5 pts) Set up hut do not evaluate an integral in terms of = that gives the area of the surface
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h.) (5 pts) Set up but do not evaluate an integral in terms of y that gives the area of the surface
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